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[kWh] [kW] [kWh] [kWh] [kWh] [kWh] [kWh] [kWh]

A = 887,432 1,463 85, 410 93, 590 371, 400 122, 620 240, 490 1,922

R6. 48
B ¥ 13 29, 581 - 2,847 1,786 12, 580 4,087 8,016 264
A = 951, 726 1,464 84, 330 99, 460 435, 300 130, 600 241,020 5 016

R6.5A
B T 15 30, 701 - 2,720 1,789 14,042 4,213 1,715 162
A = 947, 936 1,479 81,780 95, 850 434, 900 124,170 244,710 6, 466

R6.6 8
B ¥ 15 31,598 - 2,726 1,862 14,497 4,139 8,159 216
A = 973, 411 1,484 91,290 60, 590 418, 000 128, 380 266, 360 8, 191

R6. 7R
B 31,400 - 2,945 1,955 13, 484 4,141 8,592 284
A = 975, 2917 1,468 89, 190 99, 740 418, 000 130, 390 267, 660 10, 317

R6. 8 A
B T 15 31, 461 - 2,871 1,927 13,484 4,206 8, 634 333
A = 916, 580 1,474 84,870 94, 240 400, 800 112, 860 256, 180 1,630

R6.9A
B T 15 30, 553 - 2,829 1,808 13, 360 3,162 8,539 254
A = 915, 726 1,417 817,230 94, 040 395, 400 115,710 257, 680 5, 606

R6.10AR
B ¥ 13 29, 540 - 2,814 1,743 12,755 3,135 8,312 181
A = 876, 142 1,440 88, 600 99, 530 362, 500 118, 640 239, 080 11,792

R6. 118
B T 15 29, 205 - 2,953 1, 851 12,083 3, 955 1,969 393
A = 899, 051 1,376 94, 520 99,130 351, 100 133, 940 248,770 11, 591

R6.12R
B T 15 29, 002 - 3,049 1,907 11, 326 4,321 8,025 374
A = 801, 952 1,298 91,520 96, 050 305, 500 131,570 204,070 13, 242

R1.1R
B ¥ 13 25, 869 - 2,952 1,808 9, 855 4,244 6, 583 421
A = 9179, 052 1,082 19, 780 45,710 267, 000 118, 880 93,370 14,252

R7.2R
B T 15 20, 680 - 2, 849 1,635 9,536 4,246 1,906 509
A = 819,615 1,296 100, 990 61,270 218, 300 133, 030 232,140 13, 885

R7.3R
B ¥ 15 26, 439 - 3, 258 1,976 8,971 4,291 1,488 448
& B 10, 543, 920 - 1,059, 510 671,260 4,444,200 1,500, 850{ 2,751,590 116, 510
A * 15 818, 660 - 88, 293 95, 938 370, 350 125, 071 229, 299 9,709
H * 14 28, 887 - 2,903 1,839 12,176 4,112 1,539 319
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[kWh] [kWh] [kWh] [kWh] [kWh] [kWh] [kWh] [kWh] [kWh]

A = 48, 322 16, 345 11, 849 13, 586 13,194 16, 700 17,529 9, 936 342

R6. 48
B ¥ 13 1,611 545 395 453 440 957 584 185 11
A = 48, 418 13,923 10, 715 12,283 11, 753 13, 820 14,876 4,794 301

R6.5A
B T 15 1,562 449 346 396 379 446 480 155 10
A = 41,721 14,034 10, 925 12,4317 11, 889 14,053 14,748 4,928 281

R6.6 8
SIS 1, 991 468 364 415 396 468 492 164 9
A = 52,016 13, 600 10, 895 12, 081 11, 963 13, 826 15, 524 4,953 210

R6. 7R
B 1,678 439 351 390 386 446 501 160 9
A = 93,576 14,923 11,672 12,793 13, 624 14, 303 19, 449 9,375 284

R6. 8 A
B T 15 1,728 481 371 413 439 461 627 173 9
A = 48, 765 14,926 11,317 12,708 13, 462 14, 369 18, 943 9,320 257

R6.9A
B T 15 1,626 498 371 424 449 479 631 1717 9
A = 48, 983 13, 824 10,915 11,6717 11,949 13, 361 15, 388 4,942 291

R6.10AR
B 1,580 446 352 371 385 431 496 159 9
A = 90, 372 14, 686 11,4170 12,132 13, 093 14,073 15, 364 9,014 296

R6. 118
B T 15 1,679 490 382 404 435 469 912 167 10
A = 55, 413 16, 234 12,172 12,203 13, 696 15,721 16, 71217 9,607 422

R6.12R
B T 15 1,788 024 393 394 442 207 940 181 14
A = 54, 196 17,519 12,8176 13,995 13, 892 18, 134 17, 346 6, 186 974

R1.1R
B 1,748 567 415 439 448 604 960 200 19
A = 49, 3717 17,286 13,110 13, 254 12,918 18,138 17, 542 6, 159 016

R7.2R
B T 15 1,763 617 468 473 461 648 627 220 18
A = 67,623 16, 471 12, 329 11, 855 11,700 16, 760 16, 367 9,995 463

R7.3R
S 2,181 931 398 382 371 941 928 180 15
& B 624, 788 183, 831 140, 245 150, 604 153, 093 183, 864 199, 803 64, 409 4,297
A * 15 52, 066 15,319 11, 687 12,550 12,758 15, 322 16, 650 9,367 358
H * 15 1,712 504 384 413 419 504 541 176 12
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R6.4R |A = 3,161. 84 160 15,579.8 0 290 3.3 692
R6.5RA |A = 2,6271.117 113 14,894.8 2,000 0 0.5 601
R6.6R |A = 2,811. 84 129 14,611.6 0 0 0.5 572
R6.7TH |A = 3, 500. 41 155 17,824.5 0 0 0.4 391
R6.8A |A = 3,801. 47 m 17,085. 2 0 0 0.2 353
R6.9R |A = 3, 156. 86 162 15,304.6 0 0 0.2 427
R6.10R |A = 3, 830. 47 181 15,908. 9 0 0 0.2 386
R6.11R |A = 3,284.99 164 16,195.7 1,500 280 0.6 429
R6.12R |RA = 3, 040. 20 164 17, 606. 2 3,000 1,260 1.7 506
RI.1TR |A = 3,239.57 685 16, 705. 5 2,000 1,240 2.5 540
R1.2R |A = 3,133. 84 467 14,504. 1 2,000 1,180 3.2 118
R7.3R |A = 3,051.29 150 20, 541.1 2,000 1,120 2.0 935
a i 38, 639. 95 8,767 196,762.0 12,500 5,370 15.3 6, 550
A * 15 3,220.00 131 16, 396. 8 1,042 448 1.3 546




